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GeomETRY (Q 4, PAPER 2)

2007

4 (a) Inthe diagram, two sides of the triangle
are produced.

(i) Find x.

(b) Prove that the products of the lengths of the sides of a triangle by the corresponding
altitudes are equal.

(c) The triangle ocd is the image of the triangle oab under an enlargement with centre o.
|oa| =4, |ac|=7-2and |cd|=7. d
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(i) Find the scale factor of the enlargement.
(if) Find |ab].

(iii) The area of the triangle oab is 4-5 square units.
Find the area of the triangle ocd.

SoLUTION

4(a) () [A] STRAIGHT ANGLES: L is a straight line. The
angles on L add up to 180°.

~.A+B+C =180°

[E] ANGLES IN A TRIANGLE

THeoreM 1: The sum of degree measure of the
interior angles of a triangle is 180°.

Stated mathematically: A+ B+C =180° A B
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A+145° =180° [Straight angle]
= A=180°-145° =35°

45° +35° + x° =180° [Theorem 1]
= 80° + x° =180°
- x°=100°

4 (a) (i)
x° +y° =180° [Straight angle]
=100° + y° =180°

s y?=80°
4 (b)

corresponding altitudes are equal.

THeoreM 8: The products of the lengths of the sides of a triangle by the

Given: Aabc with altitudes [ad] and [ce].

a
To Prove: |ad||bc| =|ab]|ce].

CoNsTRruCTION: Separate out Aabd and Aebc.

A B
a b =

Proor: Aabd and Aebc are equiangular because:
| £adb| = |Zceb| = 90°

| £abd | =|zebc| = B [Common]

| £dab| =|Zecb| = A [Remaining angle]

ad| |ab
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4(c) (i)

|Image length|

Scale factor k= ————
|Object length|

_M_“”-Z:E:

k = = 2.8

|oal 4 4
4 (c) (i)
k = @ = 2.8= l

|ab| |ab|
“Jab|==- =25

2.8
4 (c) (iii) o [Imagearea o
_m .......

Obiject area (triangle oab) = 4.5 square units
Image area (triangle ocd) = ?

2o |Image area| , _|Image area|
~ |Objectarea] T |45

~.|Image area| = 2.8% x 4.5 = 35.28 square units




